. VCE & PDF https://www.pass4itsure.com/hce-5420.html
g 2024 Latest passditsure HCE-5420 PDF and VCE dumps Download

PassditSure.com

HCE-5420%8As

Hitachi Data Systems Certified Specialist - Content Platform

Pass Hitachi HCE-5420 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/hce-5420.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Hitachi
Official Exam Center

After Purchase

Guarantee

Free Update SRTISFACTION GUARANTEEp

Satisfied Customers

Q00O

Latest HCE-5420 Dumps | HCE-5420 VCE Dumps | HCE-5420 Braindumps 1/3


https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html

VCE & PDF https://www.pass4itsure.com/hce-5420.html
a 2024 Latest passditsure HCE-5420 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

A customer has ordered a 20-node HCP system. You have a limited amount of time to perform the installation. Which
action should you take to save time?

A. Create a core software CD for each node.

B. Create an appliance OS CD for each node.

C. Assign all nodes the same IP back-end addresses.
D. Assign all nodes the same IP front-end addresses.

Correct Answer: B

QUESTION 2

Your customer deleted a replication link running between two HCP systems. Which two statements are true relating to
the tenants and namespaces previously included in the link? (Choose two.)

A. The same replication link can be re-established to resume replication.

B. The tenants and directories included in the deleted link cannot be replicated again to the same replica unless they
are first deleted from that replica;

C. The HCP tenants and namespace included in the link remain and become read-write on both the primary system and
the replica;

D. The HCP tenants and namespace included in the link remain read-write on the primary system and read-only on the
replica;

Correct Answer: BC

QUESTION 3

You have performed an upgrade on a customer\\'s HCP. You complete the upgrade and verify that all the nodes are
online and then give the system back to the customer. A few minutes later, the customer complains that they can read
existing content but they cannot create new content on the HCP. Which step was missed?

A. The install user password was changed.

B. The upgrade was not committed.

C. The rollback was not performed.

D. The system management console is disabled.

Correct Answer: B
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QUESTION 4

Which OS LUN size do all HCP 300 configurations use?
A. 20 GB

B. 30 GB

C.50GB

D. 400 GB

Correct Answer: B

QUESTION 5

When referring to replication topologies, how many outbound links can a HCP system have?
A. 1 outbound link

B. 2 outbound links

C. 4 outbound links

D. 5 outbound links

Correct Answer: A

Latest HCE-5420 Dumps HCE-5420 VCE Dumps HCE-5420 Braindumps

Latest HCE-5420 Dumps | HCE-5420 VCE Dumps | HCE-5420 Braindumps 3/3


https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html
http://www.tcpdf.org
https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html

